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0
   	�� ا���� :آ����ء                =t    ��� آ�س �� ���Lm5  =1V م�#"! �دور ا�$�ل )�(*+ *��- I   ++K (   23 4آ#   

  L/lom 3-10 .5=1C 
 .4�DEاط�� و!L/lom 2-10 .25=2C  ��?� B#4آ 2O2H   23*+ ا�?"ء ا=وآ> � ��  Lm5  =2V و���     

 
 J*:          H2O2 (aq) + 2I- (aq) + 2H+ (aq)  →I2 (aq)  + 2H2O (l)"د�
 ا�"HI	G ه�               

])�QJ ا�?���M# NE"O P 4ات ا�4Iآ 3               ]2I  +*3ا� 
�=�E.   

          1    1  -  +* GR� 
 S�$ا�?"دة ا� 
  .*"ه� ا�?"HI	G ا�?��؟. H2O2 (aq) و I- (aq)ا�>U آ? 
  
          2    2 -  " HWو= و�O �XG	"HI�� .؟ . PYZ[م ا�\Iا� 
? Z د��mx G	"HI��.  
  


 E + ا�4Iآ 3   -3     1         Z^Jا� �O2[اوI[  م�\Iوا�x  
��� ��t   2وا����V +1V =V. 


E + أن ا�>4	  -1 -4     1             UIR# G	"HI�� 
ا���? 
[ ]2d I

v
dt

= 

  .nm4 = t	�� ا����
  ��vد *$ "� "   -4-2     1         
 

        1      4-3-  eEا�O ^�J* G	"HIا� fY� د *$ "� " *�ة��.  
  
  

    
  
  
  
  

    
  

                                                                                             
  
  
 
 

1
�	��ء                   :HI4 ا�$IJ���"Iوي ا��ا�� hI:        226 4
88 86

X
YRa Rn He→ + 

 .*O ^�J�اy  eEو x*"��ع ا�hIHI؟ ��د ا��Jد)+  - 1               1          
          1               2 -  ��IRا� k\ا�� �Oاوm∆  م�اة ا�4اد)���Ra  

 ا�lر)�IRة ا����Eu . 

                         3 - <��"E  U<م ا��اة ا�4اد)��� 
$ Ra :  
          1                   3 -1-  BE4ا� 
Z"m  El(Ra)      بMeV     .  
          1                  3-2- 
(��� 
$<��"E BE4ا� 
Z"m.  


 ���اة ا�4ادون ه� - 4                         $<��"E BE4ا� 
Z"m :1,71.103MeV   = El(Rn)  ,  م ه�� � pاة ا���� 
$<��"Eو:  
                          veM 28= E      

  *" ه� ا���اة ا=آ4v ا!I\4ارا؟  -1-  4                   1         
         1                   4-2- hIHIا ا�l4ف هm +* ا�?�4رة 
Z"Qا� U<ا�.  

    
  

    QJ*  :2C/ u =931,5MeV1 "ت               
  
  


 او ا���اة\ Zم ا!� ا���#4ون ا�4اد)�ن ��4و#E 
Ra226 ا�4*3

88  n10  p01  

 ب�IRا�) u (  225,977 1,009 1,007 
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4#: -2
�	��ء                   �Iا� 
  ا�?��� .) 1ا�4)GRzآ U �� ����3 ا�4�CU  NIJ!  �(��I� fvR* �QE4* + EC, I)� درا!
                     ��"v* N#�Z  

 آ"|f ا�lElIب ذي                          t= ��0 ا����
  �m"Z  GM�K ا�v "ر .  Eا�4pR*�4آQ!ا�E +("Jو�

            4#�I4ات ا� M# 4ةRH*CU  +*3ا� 
�=�E)GRz2ا� (  


 ا�p\\�( �I" ا�I�E4# + ان ا�?J"د�
 ا -1      1           �X"HI�CU  ه�: 
dUc

Uc E
dt

+ τ =    

                     �*CR=τ  
          1      2-   

 ا���"م ا=��S"\I و�Eا)
 ا���"م ا��ا��1t �Sد *$ "� " ا����("p� 
���.    
          1      3-    �Sا���"م ا��ا �� Nا� + EE =CU.  ��
? Z د E  $*" �".  

 ا�3*+  -4       1         IE"~ 
? Z " �" $* �Oاوτ .�* رن"Z1t.  

          1     5- 
J<ا� 
? Z �I�I!ا C fvR?��.     R=100Ω     
          1     6-   
 S"E4pRا� 
Z"Qا� 
? Z"*eΕ  ؟+�zا� 
("p� ��	 fvR?ا� �� 
  ا�?�3و�
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  2ا���
  

  
����* :4(4�Iوراق ا�"E ء"�I	^� وا��ة 
Q\� kY�#         .� J! ��.  


